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PART -1
Answer any three from the following questions :

Explain the Nationalism and give detailed note about the development of Nationalism
in Europe.

Write history of Unification of Italy.

Write reasons of China’s Revolution of 1911 and its results.
Give results of World War-1.

State the causes of failure of League of Nations.

Describe the causes of Russian Revolution in 1917 A.D.
Describe the results of Russian Revolution in 1917 A.D.

Review the new economic policy of Lenin.
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PART - 1I

9.  Find the correct answer : (Any Four)
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Whose contribution in unification of Italy ?

(a) Kavur (b) Metarnick (c) Bismarck

Treaty of Versailles was done with which states ?

(a) Germany (b) France (c) America
In which city attack was Ferdinand associated ?

(a) Sarajeve (b) Delhi (c) Paris

Who was declared fourteen point to establish peace in the world during first
World War ?

(a) Woodrow Wilson (b) Donald Trump (c) Loid George

During the revolution of China in 1911 A.D. which party was established ?
(a) Kuo-Min-Tung (b) Hui-Mui (c) Tung-Hui

Not compatible with League of Nations.

(a) Pakistan (b) France (c) England

Which contributed in the establishment of ‘League of Nations’ ?
(a) J.Nehru (b) Woodrow Wilson (c) Mao-Tse Tung

When did the Russo-Japan fight ?
(a) 1905 (b) 1910 (c) 1917



